THE ADVENTURES OF SHERLOCK HOLMES WORKSHEET ANSWER KEY LEVEL°

1 1 Edinburgh 2 1859 S Model answers:
3 doctor 4 three Whose body is found? Cadogan West, who
5 [25 6 detective worked for the government.
7 writes 8 Baker Street When was he found? On Tuesday morning.

Where was his body found? Next to an
2 1 Sherlock Holmes is a detective. Underground train line.
2 Dr Watson is a doctor and Holmes’s friend. How did it get there? On top of a train.
What did he have with him? The plans for

the Bruce-Partington submarine.

3 Mycroft Holmes 1s Holmes’s brother and he
works for the government.
4 Lestrade is a policeman. What was missing and why? The three most

important papers, because a spy took them.

Who was arrested? A foreign spy called

M|A|T|c|H Hugo Oberstein.

6 Reader’s own answers.
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4 Model answers:
1 smoke — an open ventilator
2 a whistle — to call the snake
3 the bell-rope — a bridge from the ventilator
to the bed
4 the dog whip — to catch the snake

(3}

the yellow band — the snake
6 the wild animals — to stop people walking

around at night
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